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47,665, 169 36,706,000 10,959,169 | OIAMSHEHAA &1
ESOZ20E HE]YN 47,662,169 36,703,000 10,959, 169
1) ststgifodaa gl 6,044,500 3,104,000 2,940,500
(1) x40 5,175,000 2,490,000 2,685,000
It Heop4ol 2,550,000 830,000 1,720,000
Lb, Mgl Rl 2,625,000 1,860,000 965,000
(2) PP 15,000 14,000 1,000
| 2. ne=g4e 15,000 14,000 1,000
(3) KI&THAHHS0 800,000 580,000 220,000
Jb. MAIT&H A A2 - - -
Lb. KIARHAHH S 40 800,000 580,000 220,000
(4) EHIXAAIRE S 2,000 5,000 -3,000
Jb. SHIXRAAS 249 - 5,000 -5,000
L, iiz4 2,000 - 2,000
(5) JIEtME g 240 52,500 15,000 37,500
IR 52,500 15,000 37,500
2) NAS4AHI UM 35,090,419 27,732,000 7,358,419
(1) 29 32,281,919 27,392,000 4,889,919
I, BRIP40 31,681,919 26,792,000 4,889,919
Lb. Mol 600,000 600,000 -
(2) g2y 2,708,000 340,000 2,366,000
| 2t ng2as9 2,706,000 340,000 2,366,000
(3) JIEtNR B4 102,500 - 102,500
e 102,500 - 102,500
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SRR, - - -
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. stnJ|gme= - - -

EEEEEE - - -

(2) JIRS4 40,000 40,000 -

Jb, HER=E 20,000 20,000 -

L. NES2 20,000 20,000 -

SEEEE - - -

5) 2goaclE= oo 229,000 143,000 86,000
(1) 2egesel 299,000 143,000 86,000

b, OIRHe2! 214,000 140,000 74,000

Lt. HhEr= 4ol - - -

Ch. MJIQE4H0| - - -
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)| 20134 32 1Y 2E - 2014 28 282 A
HJ| 20124 3 1Y 26 - 2013 28 282 DX
(9: &
=2
= = = 'EN e X2013(€)2] H2012(& ) =2 ME2H
(5) E&32 M.;I - - -
(6) JIEHHI RS &Y - - -
3. IRgscz0s 8= C.;lgﬂ - - -
1) Bz - - -
(1) dd2E32=01 - - -
(2) JIEHHIS SRSt - - -
2) JIg2xg - - -
| (1) sa012352 - — -
1. B2R=9 48,689,394 35,901,000 12,788,394
1. SUFSOR0IE FSIKSH 43,862,394 31,471,000 12,391,394
1) S IHIRSH 5,392,500 2,505,000 2,887,500
(1) stsra oY) 4,875,000 2,400,000 2,475,000
Jb. QI 370,000 265,000 105,000
L. BMOIAHH 643,000 340,800 302,200
Ch, H3EH MZH| 1,298,000 651,800 846,200
ot. AREEH| 854,000 333,800 520,200
OF. ARMAFZM| 550,000 209,800 340,200
H. o g 1,060,000 598,800 461,200
Ab. SIEFSI | 100,000 - 100,000
(2) =YY 15,000 20,000 -5,000
Jb. Q1] 3,200 5,000 -1,800
L}, S0 H e 1,000 2,000 -1,000
Ch. ®&3 6,000 4,000 2,000
ch. AEASH 3,000 5,000 -2,000
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&0l 20134 3 19 26 - 20144 28 282 N4l
[J| 2012 38 12 2H - 20134 23 282 NHA

(cel: &)
E—— H12013(2) 71 R2012(F )71 =2t ue
2 E 2 H2 NA=
0. JIEI RS2 1,800 4,000 -2,200
(3) RIAFHAHRHH 2 450,000 70,000 380,000
Jb. RIAITHARH A Al 2FEHI 50,000 20,000 30,000
L}, ArstE g A3 400,000 50,000 350,000
(4) StRANENES - - -
IEENEEREREE - - -
{5) JIEtpESHE 2| 52,500 15,000 37,500
| . JIEresta =) 52,500 15,000 37,500
2) ANRS MBS 5N 30,963,419 25,360,000 5,603,419
(1) ¢132H| 28,154,919 25,000,000 3,154,919
Jb. QIAHH| 2,459,500 1,750,000 709,500
L. iAol 5,764,546 5,500,000 264,546
Ct, ¢ ZHl WSH| 7,463,962 7,500,000 -36,038
2h. 2RSS 3,463,350 2,250,000 1,213,350
0}, SR DLHIZEEHI 1,065,336 1,250,000 ~184,664
H., ol 1,938,225 2,000,000 -61,775
Ab. QI TR 6,000,000 4,750,000 1,250,000
(2) us9HI 2,706,000 340,000 2,366,000
Jb. Q1Y 400,000 50,000 350,000
Lt. DS IEIfY 100,000 20,000 80,000
o, a3 1,600,000 170,000 1,430,000
2h. A EASH| 300,000 50,000 250,000
0F. 2IEtn 22 H 306,000 50,000 256,000
(3) JIELXIA S AL BI 102,500 20,000 82,500
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= = = e e A2013(=)2 RI2012(& )2 =2 MBI
Ot JIEFRIR S AL 102,500 20,000 82,500
3) ZEBIAYH B2 REN 4,231,475 3,006,000 1,225,475
(1) ergi Xl 750,000 300,000 450,000
Jb, Q1A 750,000 300,000 450,000
Lh. SRS sS4 - - -
(2) Sl XI|H| 3,231,475 2,706,000 525,475
O, JI2S RS A 1,084,000 755,000 329,000
L. AIQISHE =01 REH2 i) 1,977,475 1,951,000 26,475
Ch. SIRAIOHE2HE|H] 100,000 - 100,000
2t SRE IR Y| 20,000 - 20,000
Ot ds2as 20,000 - 20,000
. SIRIEEHI2 - - -
A, Oistoi ST 83 30,000 - 30,000
(3) XA 230,000 - 230,000
. DE25E s 30,000 - 30,000
Lh. RAHARESE 200,000 200,000
(4) JIEtX&H| 20,000 - 20,000
| 2t J1Et X2 20,000 - 20,000
4) APB Y H2R BN 60,000 - 60,000
(1) Y2 60,000 - 60,000
O, o12H| 30,000 - 30,000
L, 2Bt Z Y] 30,000 - 30,000
5) 2UQHIBEZ2QEN 15,000 100,000 -85,000
| | ot &Jlleg4smay - - -
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Il 20124 38 12 2H - 20139 22 289 DA
(ct9: ®9
S H2013( )71 HI2012( & )71 =2 AE D
2| = = e HAI=2

Lt. JIEI2YSIHIE 15,000 100,000 85,000
6) B HEE2H2REY 3,200,000 500,000 2,700,000
| IEREREE] 3,200,000 500,000 2,700,000
. ENBSOR018 H2pE 4,527,000 4,130,000 397,000
1) EX XK S _ _ -
(1) IZSAHESI} - - -
(2) BIENZSHMFHEXS - - -
(3) EXNSEXNE - - _
(4) JEIERTME XX S - - -
2) SHENMFSXE 4,427,000 4,000,000 427,000
(1) EXHS - - -
(2) AE2HS - - _
(3) A=23S - - -
(4) 2101325 S 4,200,000 3,700,000 500,000
(5) AJHIZEHS 297,000 300,000 -73.,000
(6) HE2UDHE - - -
(7) AEZORMFES - - -
(8) JIEEREANMNHE - - -
3) PERNMNISIE 100,000 130,000 30,000
(1) MATHNRAFHS 100,000 130,000 30,000
(2) Mg = - - -
(3) JIEtRE M E - - -
4) JIEHHIS SR MK S - - -
NEEEEEERE _ Z Z
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&2 20129 3&

(o M
* = )i R12012(F )71 =2 wE2
2| & = EN e H2013(%) -7 -

(2) A2 RN = - - -
(3) BBV 2HUXE - - -
(4) JIEI2EEAE - - -
(5) ESZNE - - -
(6) JIEIHHISSRAXE - - -
3. HeE=0z0ls H2REY 300,000 300,000 -
1) 2x12AE 300,000 300,000 -
(1) dE=224 - - -
BEEELEEEL B 300,000 300,000 -
(3) JIEBHISSEMZ 4 _ - -
o) Jl=2urs - - -
[ (1) saDi=324 - - -
1. 829 =2 1,024,225 805,000 -1,829,225
" ECEE 18,067,688 17,262,688 805,000
V. J|zo sz 17,043,463 18,067,688 -1,024,225
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T o4 SE
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- 201448 23 28& NtX

49 (et &)
I -
Off &b o4 MHEZH
z |5 HSs HAMS

I3 ASH(I+I) 65,732,856,985
B3R A((]) 47,665, 169,000
1. SYHSCZ0E 25U H 47,662, 169,000
1) aEtE Lol R N 6,044,500,000
(1) giz249 5, 175,000,000

Jt. B3RP0 2.550,000,000 |2 ME(IIEF~2IAF) 50,000,000 X 60 X X 85% = 2,550,000,000

Lb., &4 2,625,000,000 |&HMRIE SR 50,000,000 X 70 A X 75% = 2,625,000, 000
(2) w299 15,000,000

Jbh. BE2E 49 15,000,000 |&ted® SIEtWS AT 10,000,000 X 22 X 756% = 15,000,000
(3) KA AR 29 800,000,000
Jh. NATHAH A A =2 -

Lb, K& TH&HE 2 800,000,000 {71=0I® =2 800,000,000 X 14 = 800,000,000
(4) SHITHMHAIEE 42 2,000,000
. SHIRSAIER 2 -

Lt., &+ 2,000,000 [HLEsSHEHAUUNESS+ 2,000,0008 X 14 = 2,000,000
(5) JIEH&HSHE = 40 52,500,000

Jb. J|Erersr g E 49! 52,500,000 (&AL 50,000,0008 X 1238 X 75% = 37,500,000

JIEF M 42 10,000,000& X 22 X 75% = 15,000,000
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2) ABI4ABIRYY

35,000,413,000

32,281,918,000

31,681,919,000

w2 5 HFWA 100,000,000 X 3200H| X 87% =

WCU 5XHE = AFSIH| 1,834,000,0008 X 14 =
WO 4XtE = O[RSM 259,669,00031 X 14 =
Global Excel AtE 198 1,311,750,000 X 14] =

Global Excel AR 353 435,500,000 X 14

27,840,000,000

1,834,000,000
259,669,000
1.311,750,000
436,500,000

Lb. AEHARLS=

600,000,000

QLRSS AP HI 600,000,0008 X 14! =

600,000,000

(2) nx2Y

2,706,000,000

Jb, nE2gs 2,706,000,000 |Global Excel AtE! 29& 702,000,000 X 34! = 2, 106,000,000
JIE mE2g49 30,000,0008 X 204! = 600,000,000
(3) JIgtNE3 Y 102,500,000
ot. JIEtXIE 242 102,500,000 |ZSQIEISHAH 49 30,000,0008 X 13| = 30,000,000
CHEHE STLOXI AN 42 50,000,0008! X 13| = 50,000,000
JIEFXI®E AbY 30,000,0008 X 14! X 75% = 22,500,000
3) 2E B4+ RN 6,258,250, 000
(1) usig s 40l 1,422,500,000
Jb. AtErgE i 40l 1,400,000,000 |22 3HM (D121 AM) 50,000,000 X 60 DX X 15% = 450,000,000
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2013=2] A Ol SBY A A

D] 20134 38 12 2H - 20148 28 282 Al

-8 (Et91: &)
=
Ofl &k o4 ME2H
=1 8|2 HS KiAdl=
A RE PR 50,000,000 X 76DHHI X 25% = 950,000,000
L, ug2g49 5,000,000 [&tQIX A=WS A 10,000,0008 X 22 X 25% = 5,000,000
Cr. JIEt&EEE 40| 17,500,000 |t XHE 50,000,000 X 12HHI X 25% = 12,500,000
JiEtMEEE ALY 10,000,000 X 224 X 25% = 5,000,000
(2) NS4 4,835,750,000
Jb. g9 4,504,250,000 |2Ee0e8 S 2 0HA 100,000,000 X 32024 Rl X 13% = 4,160,000,000
WCU SXHA T 2HEH| 240,000,0008 X 14] = 240,000,000
Global Excel A2(1,39 %) 2+&H| 194,250,0008 X {4 = 194,250,000
L. g2 234,000,000 |Giobal Excel AFR(223) 2tEH| 234,000,000 X 14! = 234,000,000
Ct. JIEIRIAZS 4 7,500,000 [2IELRIR= AP 30,000,0008 X 12! X 25% = 7,500,000
4) EYUYIIRZ LA RN 40,000,000
(1) Mg 324 -
ot stmgelde= -
Lt. stuws|HEe= -
Ct. stul|gay=z -
gt. JIEEY 2 -
(2) R3S+ 40,000,000
Jt. YHEDIRZ 20,000,000 [EHIIR3 10,000,0008 X 24! = 20,000,000
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S Al A

71 201348 38 1 2H - 20144 23 282 DAl

49 (292
* = OH =
|z |=2| A= e A= e==
L. XEII82 20,000,000 |XIEIISS 10,000,0008 X 24 = 20,000,000
Ch. BIEJI22 -
5) gz el 229,000,000
(1) AL 229,000,000
Jt. Ol &2 214,000,000 |atst@=ich o2 BE 21,400,000,0008 X 1% = 214,000,000
L. Hig=a2+4 -
Ch, EJI2E84+FH0|2 -
ch. JIEl2g Q42 15,000,000 {ZIEt2Hel 42 15,000,000 X 14! = 15,000,000
SXNESOo2005 HI[UAN 3,000,000
1) EXX &= -
(1) 84520z -
(2) BIERS SN -
(3) EA33 % -
(4) JIEISE R A o4 _
2) S A0 3,000,000

(1) EX0H2AY

(2) HE0H2h

(3) FEESH2H
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Off & % MED2

3]
0%
Jo

H= HAHI=

(4) 1A 208204 3,000,000 |=S&HIDH2 3,000,000 X 14 = 3,000,000

(5) EOHI S0y -

(6) HT2WRMAN -

(7) JIEFSE T AHDN2HCY -

3) REALM2H -

(1) XIAIFH&OH2HCH -

(2) JHZHI0H2HTH -

(3) JIEtP S A AHOE2HCH -

4) JIEtHIS S RHek4g -

OIJ —

(3) &st|

2
(4) JIERDISeIE

3. iSE=C=20s Ha3RUNH -

(1) dUHESSSI -
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{(2) JIEHIRSE2ENSO} -
2) JIE2XY -
(1) 200|122 ED} -

A=LATS(I11)

18,067,687,985
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* 5
Ol &k 24 tEZ2
= HAS

SZXNSASH(I+H1) 65,732,856,985
(1) 48,689,394,000
. RUFECZ0E HIREY 43,862,394,000
1) MSEHAHEEZSEN 5,392,500,000
(1) &tstE =l A 4,875,000,000

Jt. ©IAH| 370,000,000 |2 1tH 240,000,0008 X 14 = 240,000,000

AR QSR TR 130,000,0008 X 14 = 130,000,000

L. S0l 643,000,000 |2 DA 243,000,0008 X 14! = 243,000,000

AT SIS T DA 400,000,0009 X tAl = 400,000,000

Ch, S Hl M2 H 1,298,000,000 |2 BHA 717,000,000 X 14 = 717,000,000

MR AE DA 581,000,000 X 18] = 581,000,000

ot HRE S 854,000,000 |2 DR 550,000,0008 X 14 = 550,000,000

AT S S R ILH 304,000,0008 X 1A = 304,000,000

OF. RDHERY| 550,000,000 |2 =D& 350,000,0008 X 14 = 350,000,000

AP SIS TIEA 200,000,0008 X 14 = 200,000,000

HE. SAR4g 1,060,000,000 [2=3H 300,000,0008 X 14t = 300,000,000

AHARIRIEFI IR 760,000,0008 X 14 = 760,000,000

Ab. SIEF oI I) ey 100,000,000 (&M & RIHH 100,000,0008 X 14 = 100,000, 000
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EEltt

T O &

=21 20133 38 12 e - 201449 23 282 DAl

3 Al A

pAE-] (e &)
I3 =
Ofl &k 4 aHED
18| 5 |AdS HAS
(2) ns2494| 15,000,000
Jb. eiZd] 3,200,000 [&t2iX SISERS AY 3,200,000 X 14 = 3,200,000
Lb. DSoFEINEY] 1,000,000 [AH SRS AFY 1,000,000 X 14 = 1,000,000
Ct. &&3d 6,000,000 &SR FAE RS AFY 6,000,000 X 14 = 6,000,000
ot AEASY 3,000,000 [&t2IF SIStDS AFY 8,000,000 X 141 = 3,000,000
0. JIEtRnsS4H| 1,800,000 |AMIH SIS WS MY 1,800,000 X 14 = 1,800,000
(3) WAYMALIE 450,000,000
Jb. KAITHAHAH A A2 50,000,000 MM &AISE HMAHBl 5,000,0008 X 108 = 50,000,000
L, MEEEENZ 400,000,000 |HPYHEAZ 400,000,0008 X 14 = 400,000,000
(4) StDAENER -
It BWAIEAIRE -
(5) JIEF&IEIE S 52,500,000
Jb. JIERArSEE | 52,500,000 |&AHE 37,500,0008 = 37,500,000
JIEH AtstEad421 15,000,0008 X 14 = 15,000,000

2) AIASAYBIBE2REN

30,963,419,000

(1) &4=Hl

28,154,919,000

Jh. el

2,459,500,000 |RSWED|2R S 1,624,000,0003 X 14

WCU 447,000,000& X 14 =

1,624,000,000

447,060,000

16




20132/ A Ol&F =2 S AlA

ED] 20138 3€ 1Y€ SH - 20148 2€ 28 Al

AR (&91:8)

4 =

Ol &8 o4 MEDH
= g3 |AS RIA =

Global Excel(1,37 %) 388,500,0008 X 14 = 388,500,000
Lb. SH&HQIAH| 5,764,546,000 |nsNed|as S 5,024,521,0008 X 1&f = 5,024,521,000
WCU 254,400,000& X 14 = 254,400,000
Globa! Excel(1,35&) 485,625,000& X & = 485,625,000
Ct, (2&Hl M=HI 7.463,962,000 | SUE2N=E S 6,300,000,0008 X 1&l = 6,300,000,000
WCU 960,000,000% X 14 = 960,000,000
Global Excel(1,37&) 203,962,C00& X 1& = 203,862,000
gt g =Hl 3,463,350,000 |URIUHI =S S 3.000,000,0008 X 14 = 3,000, 000,000
WCU 346,800,0008 X 14 = 346,800,000
Global Excel{1.3%&) 116,550,000% X 14 = 116,550,000
O, ¢ AEF=H 1,065,336,000 (wsSuEd(&% S 1,000,000,000& X t& = 1,000,000,000
WCU 45,911,000 X 14 = 45,911,000
Global Excel(1,35 &) 19,425,000& X 14 = 19,425,000
g, g 1,938,225,000 |RERs)ss S 1,856,000,0008 X 1& = 1,858,000,000
WCU 62,800,000& X 14 = 62,800,000
Global Excel(1,357 &) 19,425,000 X 14 = 19,425,000
Ab. PIEFH SIS 6,000,000,000 |RESX&EI| =T S 6,000,000,0008 X 14 = 6,000,000, 000

2,706,000,000
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- 20148 28 28e DXl

E (298
B o=
- 04 & 0 LY
|l g =4 HA=
Jb. 12| 400,000,000 [Global Excel(23%) 400,000,000 X 14! = 400,000,000
Lt. W=a-&I 2| 100,000,000 {Global Excel (25 &)} 100,000,000 X 14l = 100,000,000

Ch. &&=

1,600,000, 000

Global Excel(27&) 1,000,000,0008 X 14!

1,000,000,000

JEe nsE2E 42 30.000,0002 X 204 = 600,000,000
ch. AEasul 300,000,000 |Global Excel (2R%) 300,000,0008 X 14! = 300,000,000
Ot. JIEtu=s2H ! 306,000,000 |Global Excel(2&&) 306,000,000& X 14 = 306,000,000
(3) JIEtXIA S A 102,500,000
Jt. JIEH A& = AL I 102,500,000 |2 elE S RIAIEHIS0,000,000 X 14 = 30.000,000
CHErE STLOXI R AL BI 50,000,0008 X 148 = 50,000,000
JIELNE S Ar2idl 22,500,000 X 14 = 22,500,000
3) AFHAIHHESREN 4,231,475,000
(1) XAl 750,000,000
v cibal. | 750,000,000 |¢ASSH WA AR 20| 25,000,0008 X 30E = 750,000,000
L. H7peEsEda= =
(2) ¢RX A 3,231,475,000
Jb. JI2ESKEEH 1,084,000,000 |¢1=, &IEtE™ S XS 2Hl 25,000,000 750,000,000
o, MsiEs 3 M2JF 2124H] 50,000,000 100,000,000
FAgel oAl ==& 8,000,0008 « 1& = 8,000,000
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20132l A H &

& D] 20138 38 1«

Ol & SEZFAA

SE - 2014 28 282 MtAl

K= (5|
n = ~
2] 2 |AS H A= nes e
oiRe S =Syl 35,000,0008 X 14 35,000,000
A2 20,000,000 X 14! = 20,000,000
SSrpc XA CHHEEE 11,000,0008 X 14 11,000,000
JIEH JI2ZEXNRAH 160,000,0008 « 14 = 160,000,000
Lh. AlRIEt E=o1qct2 o) ,977,475,000 |WCU 72,000,0008 X 14! = 72,000,000
AJl& 2 512,000,0008 X 14! = 512,000,000
Global Excel 428,250,000€ X 30% = 128,475,000
JIEMLH 2 =AM ZEH) 1,265,000,0008 X 14 1,265,000,000
Ch. SRAOHA2RIH| 100,000,000 |212tHI4=2! 10,000,000,0008 X 1% = 100,000,000
2t AP ORI 20,000,000 |¢2Eot@2IH 20,000,0008 X 14 = 20,000,000
0. RSeS| 20,000,000 {97 E2/&SH| 20,000,008 X 14 = 20,000,000
Ht. A2 =HIZ -
A, DR E A2 30,000,000 |CAste =S X &= 30,000,0008 X 14! = 30,000,000
(3) SEEXALI 230,000,000
ob. BEtRsiEsy| 30,000,000 |m+et2starSH| 30,000,0008 X 14 = 30,000,000
Lh, AT ASAS S 200,000,000 |ZUXIAHARSASEY| 350,0008 X 2002 = 70,000,000
HQAX A ARERSEY| 2,600,0008 X 5021 = 130,000,000

(4) J1EbXI&H|

20,000,000
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20133 H A

Ol &k S EZ A A

20| 2013 38 12 2H - 20144 28 282 MA

B o=
Ol &b o8 B
2|82 A HAI=
Jt. JIEAI &I 20,000,000 [ZIEFRI=H] 20,000,000 X 14 = 20,000,000
QU3 RS 60,000,000
(1) LUrA2IH| 60,000,000
Jb. el AHH| 30,000,000 |21ZHH| 30,000,000 X 14 = 30,000,000
L., SHbH ZH] 30,000,000 |4tHIZH]l 30,000,0008 X 14 = 30,000,000
SHAHIEHISEY 15,000,000
o @IleEsmas -
L. JIEIE2Y IS 15,000,000 {JIE+=2HRAHIE 15,000,000& X 14! = 15,000,000

3,200,000,000

3,200,000,000

J
El
o
é

= 3,200,000,0008 X 1&] =

3.200.000,000

4,527,000,000

(3) X

Al

SAMHENE

4,427,000,000

(1) EXHAS
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20132 HH = OGl&t S|SB S AIA

20| 20138 38 12 2e - 20144 28 282 X
(S&e]:8)

t =
Off &k o4 frE2
Z | S| AS MM =

(2) 223H= -
(3) ?=REHS -
(4) 20012 H S 4,200,000,000 |7121017 #S 4,200,000,0008 X 14 = 4,200,000,000
(5) IHIEHS 227,000,000 {EIIEIB S 227,000,000 X 14 = 227,000,000
(6) Hg2uxs -
(7) AESAURYFS -
(8) JIEIREMHS -

3} SFENMFSNE 100,000,000
(1) MNAMAEHS 100,000,000 |RE XA &R < 100,000,000 X 14 = 100,000,000

(2) NEHIFS _
(3) JNEIRERMFE -
4) JIEHHIR S AN E -
(1) R SNBXS _
(2) AR SHYXS _
(3) FEIIS2HYNE _
(4) JERISHBEXNE _
(5) E523XN= -
(6) JIEtHIRSHENE -
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20132/ HIHE Oll&t SESAIA

gJ] 201349 38 12 2H - 201449 28 282 Al

(et9i:8)

4 =
Of] o MEZ
Z |l g 8|42 HAI=

3. MRE=SCRQE HASE=U 300,000,000
1) B el &t & 300,000, 000
(1) dipE=22A -

(2) B 2ZHEESEMNET A 300,000,000 |28 S1=Z2 XS 2,000,0008 X 1502 = 300,000,000
(3) JIEtHISSE2A -
2) J|=23cerst -
(1) S I232a -
o A= 17,043,462,985
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